
 Ø
e.

50
 

 
85 

 35 

 35 

 
35 

 300 

 Ø
i. 5

0 

 Øi. 3
8 

 85 

 M
12x1.25 

e
13  00012 F

Pipe 2/1
Cod.3014181203

Silencer Lv One Evo
Stainless Steel Øi 50x300
Cod.308402481

N°4 Short helical spring
tensile
Cod.303949001

Extra-Short helical 
spring tensile
Cod.308574001

Alluminium Spacer
Cod. 206361

Alluminium Spacer
Cod. 204321

Allen screw
M8X45 T.C.E.I.
Cod.201450

Allen screw
M8X20 T.C.E.I.
Cod.200722

Allen screw
M8X40 T.C.E.I.
Cod.200993

Plain washer
8x17
Cod.200294

Plain washer
8x17
Cod.200294

S.s Bracket
Purch. Cod.206360 
Prod.Cod.3014181501

Carbon clamp FM1S
Cod. 306958505

Pipe RHS stainless s.
Cod.308579202

Pipe LHS stainless s.
Cod.308579201

N°3 Knurled collar 
nut M8
Cod.200298

CATALYTIC 
CONVERTER

E13  92R - 01 10394

"OPTIONAL"
5683

Flange S.s 
Cod.206061R 

Bushing S.s 
Cod. 206060R 

Welded dB-Killer N°57
Cod.308078803

 100 

 1
13

 

DB-Killer N°32B
Cod.307762801

 41 

 2
5,

5 
 2

3,
5 

 35,1 

 1
1 

Bushing 
Cod.206060

 80 

 39 

 
4 

 8
,5

0 

 12,50 

 60,50 

Sp. 6
Flange "158A"
Cod.206061

ART. 14181EK

KAWASAKI Z650 - NINJA 650 (also fits 35kW versions) 

FULL SYSTEM 2/1- LV ONE EVO - STAINLESS STEEL - APPROVED 


	DT-14181EK
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3
	Vista del disegno4


